

Let us help you take advantage of digital marketing opportunities to grow your business

CONTACT US:

AiDigma Digital Solution S-02, 4th Floor, 54-C Block U.P – 201301 Ph: +91 9997037115 info@aidigma.com LinkedIn, Facebook, Instagram



(7

OUR IN-HOUSE SERVICES INCLUDE

Search Engine Optimization

Social Medial Marketing

Web Design & Development

Pay-Per-Click

03



Go Digital Grow Business



ABOUT US



AiDigma is a full-service digital marketing agency based on New Delhi.

In today's digital business world, you need a partner who can help you take advantage of marketing opportunities across a variety of channels in realtime. AiDigma combines a data driven approach with knowledge gained from years in digital marketing to delivery outstanding results to our clients.



Client Name: NetworkersCCIE

FACEBOOK, INSTAGRAM AD CAMPAIGN:

AMOUNT SPENT: INR 48,284, Duration: 5 Months

Total Leads generated through Facebook and Instagram: 1297

U.	Search ar													Apr 2023 - 30 Se	Concernant ()	
											10					
Campaigns							00	Ad set	s		1	Ads				
+ Create 🕼 🔹 🎤 Edit 💌 👗 A/B test 🗊					0 0	D 🗑 🐼 🗣 Rules 🕶 Views			View Setup	• • •	orts 🔹 🛓 Export 🝷					
	Off/On		Campaign			-	Results	v	Reach .	Frequency -	Cost per result 👒	Budget	Amount spent 📼	Ends 👻	Impress	
							On-Facebo				Per on-Facebook lea			,		
	•			Guarantee C rts 🖍 Edit			On-Facebo	24 ok leads	9,328	2.64	₹72.84 Per on-Facebook lea	Using ad set bud	₹1,748.10	Ongoing		
			CCNA CCN	IP Ads			On-Facebo	3 ok leads	1,485	1.13	₹36.35 Per on-Facebook lea	Using ad set bud	₹109.04	Ongoing		
			21 July -Ne	etworking Co	ourses		On-Faceboo	6 ok leads	7,258	1.79	₹183.66 Per on-Facebook lea	Using ad set bud	₹1,101.97	Ongoing		
			10th July P	alo Alto Ca	mpaign		On-Facebo	87 ok leads	35,384	1.96	₹44.58 Per on-Facebook lea	Using ad set bud	₹3,878.71	Ongoing		
			Instagram '	पोस्ट: #insta	gram #ree	els	L	– nk click	-	-	– Per link click	₹165.00 Lifetime	₹0.00	2 Jul 2023		
			1st Sep Ne	w SD-WAN	Campaign	1	On-Faceboo	454 ok leads	99,248	2.25	₹25.98 Per on-Facebook lea	Using ad set bud	₹11,796.57	Ongoing		
	•		1st Sept CO	CNA Leads	Campaign		On-Facebo	444 ok leads	106,049	2.43	₹30.63 Per on-Facebook lea	Using ad set bud	₹13,601.63	Ongoing		
			-					_	212 57	2.73	-		F 40 00 4 74			
			Results fro	om 56 camp leted items	oaigns 🚯		Multiple con		313,575 Accounts Centre ac	Per Accounts Centr	Multiple conversions		₹48,284.71 Total Spent			
Car	nnaigne	26	Excludes de	leted items		241 -		versions	Accounts Centre ac		Multiple conversions		Total Spent	iow and publich	(10)	
	npaigns		Excludes de			241 •	Multiple con	versions	Accounts Centre ac			es ago 🗘 Dis	Total Spent	iew and publish		
	mpaigns Search ar		Excludes de	leted items		241▼		versions	Accounts Centre ac		Multiple conversions	es ago 💭 Dis	Total Spent	iew and publish) Apr 2023 - 30 S		
٩		nd filte	Excludes de	leted items		241 •	10 ads wi	versions	Accounts Centre ac		Multiple conversions	es ago 🗘 Dis	Total Spent			
a 2	Search a	nd filte	Excludes de	leted items	05183872	241 ▼	10 ads wi	versions	Accounts Centre ac		Multiple conversions	T Ads	Total Spent) Apr 2023 - 30 S		
a 2	Search an	nd filte	Excludes de 760518387	2417 (3676	05183872		▲ 10 ads wi	th errors	Accounts Centre ac	Per Accounts Centr	Multiple conversions	T Ads	Total Spent scard Drafts Rev 20) Apr 2023 - 30 S	Sep 2023	
a 2	Search an Campa Create	nd filte igns (L	Excludes de 760518387 er Campaign	2417 (3676	•		▲ 10 ads wi	Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute View Setup	• Ads	Total Spent scard Drafts Rev 20 21	o Apr 2023 - 30 s norts 👻 🔮 Ends 👳	Sep 2023 Export	
a 2	Search an Campa Create	nd filte	Excludes de 760518387 ar Campaign Online Iwick Online MBA	2417 (3676	•	A/B test	10 ads wi	Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute View Setup Cost per result	Ads	Total Spent accard Drafts Rev 20 T - Rev Amount spent -	o Apr 2023 - 30 S orts Ends ongoing	Export	
a 2	Search an Campa Create	igns	Excludes de 760518387 ar Campaign Online Wb/ Online MB/ .til View Cha	2417 (3676 2417 (3676 * Edit	Camp	▲ A/B test te 📌 Pin	10 ads wi	Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute View Setup Cost per result Per on-Facebook lea.	Ads Ads Budget Using au set bud	Total Spent scard Drafts Rev 20 T Amount spent CU:00	orts Ends Ongoing	Export	
a 2	Search an Campa Create	igns	Excludes de 760518387 r Campaign Crime IVED Online MBJ JU View Cha 13 Oct CCI	Edit Edit Cead Gen A Uni Edit	Camp (Dupikase Campa	▲ A/B test te 📌 Pin	10 ads with a second seco	Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute View Setur Cost per result Per on-Facebook lea Per on-Facebook lea Per on-Facebook lea	Ads Ads Budget Using ad set bud Using ad set bud	Total Spent scard Drafts Rev 20 T - Rev Amount spent - CO.00 ₹0.00	Apr 2023 - 30 S orts Ends Ongoing Ongoing	Export	
a 2	Search an Campa Create	igns	Excludes de 760518387 ar Campaign Online MB/ .til View Cha 13 Oct CCI 15 Sept SC	2417 (3676 2417 (3676 Cedit	Camp Camp (Compaign	▲ A/B test te ♥ Pin ign	10 ads with a constraint of the second co	Ad set Ad set a a b b b c k lead b c k lead b c k lead b c k lead b c k lead b c k lead b c k lead b c k lead b c k c c c c c c c c c c c c c c c c c	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute Updated 9 minute View Setup Cost per result Per on-Facebook lea. Per on-Facebook lea. ? Per on-Face	Ads Ads Maget Using ad set bud Using ad set bud	Total Spent scard Drafts Rev 20 Amount spent • CO.00 ₹0.00	orts Ends Ongoing Ongoing	Export	
a 2	Search an Campa Create	igns	Excludes de 760518387 ar Campaign Online MB, all View Cha 13 Oct CCI 15 Sept SE 13th Sept S	Edit Ceau Cent Ceau Cent A Uni A A Leau Cent A Uni A NP Enterpris D-WAN Cam	Camp (Dupilca se Campai paign mpaign N	▲ A/B test . te ≁ Pin ign	10 ads with a log and set of the set of	Ad set Ad set Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute View Setur Cost per result Per on-Facebook lea. Per on-Facebook lea. Reserved lea. Reserve	Ads Ads July expension of the second s	Total Spent scard Drafts Rev 20 Te - Rev Amount spent - COU Rev Rev Rev Rev 20 20 20 20 20 20 20 20 20 20 20 20 20	orts Ends Ongoing Ongoing	Export	
a 2	Search an Campa Create	igns	Excludes de 760518387 ar Campaign Online MBJ Jul View Cha 13 Oct CCI 15 Sept SC 13th Sept S 16th Oct Fi	Edit Edit Edit Edit Edit Edit Edit Soft Edit Soft Edit Soft Edit Soft	Camp Camp Opples See Campa Jang Duples See Campa Jang Camp See Campa See Campa See Campa See Campa See Camp See	▲ A/B test . te ≁ Pin ign	10 ads with the second se	Ad set Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute Uiew Setur Cost per result Per on-Facebook lea. Per on-Facebook lea. Per on-Facebook lea. Per on-Facebook lea. Ressaging c Ressagi	Ads Ads Maget Using ad set bud	Total Spent scard Drafts Rev 2(2(2(2(2(2(2(2(2(2(orts Ends Ungoing Ongoing Ongoing	Export	
a 2	Search an Campa Create	igns	Excludes de 760518387 ar Campaign Online MB, all View Cha 13 Oct CCI 13 Oct CCI 13th Sept SE 13th Sept S 16th Oct Fil 12 Oct CCI	Edit	Camp (La Duplica ee e Campa paign mpaign N mpaign	A/B test . te ≠ Pin ign	10 ads with a constraint of the second	Ad set Ad set	Accounts Centre ac	Per Accounts Centr	Multiple conversions Updated 9 minute View Setur Cost per result Per on-Facebook lea. Per on-Facebook lea. Ressaing c. Ressain	Ads Ads July explored a set bud Using ad set bud	Total Spent scard Drafts Rev 20 21 21 21 21 21 21 21 21 21 21	Apr 2023 - 30 S orts Ends Ongoing O	Export Impres	



Client Name: Samkalp IAS

Google AD CAMPAIGN:

AMOUNT SPENT: INR 7259

Total Leads generated through Google Ad: 96

View (2 filters) Campaign All campaigns Campaign Samkalp IAS UPSC Lead C	Campaign	Ad groups Select an	(1) ad group	·					
Enabled Status: Eligible Type: Search Budget:	₹5,700.00/day	Optimization score: – 🔀 Simulate campaign changes 🔅 Campaign settin							tings
d groups			All time Sep	27, 2020 - Au	g 29, 2024	•	< >	Show last	30 days
									/ \
0									/ \
Sep 2020								A	ug 2024
Add filter			Q =		il.	<u>ب</u>		3 👔	~
			Search Segm	ent Columns	Reports	Down		oand More	68
Ad group	Conversions	Cost / conv.	Ad group type	↓ Clicks	Impr.	CTR	Avg. CPC	Cost	Conv. rat
Ad group 1	75.00	₹96.80	Standard	700	77,785	0.90%	₹10.37	₹7,259.89	10.71
Total: All but removed ad groups in your c ⑦	75.00	₹96.80		700	77,785	0.90%	₹ <mark>10.3</mark> 7	₹7,259.89	10.719



Client Name: Shri Education

Google AD CAMPAIGN:

AMOUNT SPENT: INR 100,312

Total Leads generated through Google Ad: 225

iew (2 filters	Summer and the second		Ad groups (3) Select an ac	d group						
O Paused	Type: Search Budget: ₹3,000.00/day	Simulate	e campaign d	changes 🧯	3 Campaign	settings				
• 7	Add filter			Q = earch Segm	an and an	-	100 00 T 100		: d More	^
•	Ad group	Conversions	Cost / conv.	Cost	↓ Clicks	Avg. CPC	Conv. rate	Conv. value	Conv. value / cost	All con
•	Online MBA Ad Group 1	209.00	₹442.42	₹92,465.27	2,096	₹44.12	9.97%	691,002.10	7.47	220.0
	Google search	207.00	₹436.88	₹90,433.87	1,982	₹45.63	10.44%	688,418.77	7.61	216.0
	Search partners	2.00	₹1,015.70	₹2,031.40	114	₹ 17.82	1.75%	2,583.33	1.27	4.0
•	Ad group 3	0.00	₹0.00	₹5,694.69	961	₹5.93	0.00%	0.00	0.00	4.0
	Google search	0.00	₹0.00	₹7.15	1	₹7.15	0.00%	0.00	0.00	0.0
	Search partners	0.00	₹0.00	₹5,687.54	960	₹5.92	0.00%	0.00	0.00	4.0
0	Online MBA Lead Ad group 2	1.00	₹2,152.34	₹2,152.34	73	₹29.48	1.37%	83.50	0.04	1.(
	Google search	0.00	₹0.00	₹1,900.33	58	₹32.76	0.00%	0.00	0.00	0.0
	Search partners	1.00	₹252.01	₹252.01	15	₹16.80	6.67%	83.50	0.33	1.
\sim	Total: All but removed ad groups in your c ⑦	210.00	₹477.68	₹100,312.30	3,130	₹32.05	6.71%	691,085.60	6.89	225.



Client Name: NC Educations

SEO (Search Engine Optimization:)

Increased Website Traffic: from 49/Day Visitors to 626/Day Visitors with in 1.5 months

Before SEO Website Analytic

Total Impressions Total Clicks
4.3K
44.3%

Unique Visitors from Search

49

↑40%

After SEO Website Analytic



Perwez Hyat AiDigma Digital Solution

Date: